A £ O &

Al A

=0 o
20248 =0ilat DIXIOIS AL SE3 & X
M 22
M SAAIIX0E 2HENL A
CHel: SEAIIROIS BASARIOIXIOISAIRISEE) (Crel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2ttt 4,309,155 4,373,010 A\63,855
STUAIIR0E 22HL A 1,579,824 2,236,579 AB56,755
HEZIIX02 2ESAL (OIXIDISAILSESIA) 150,009 156, 144 26,135
SA2IIXH0ts ODIE 82 150,009 196, 144 6,135
101 21AH| 84,344 43,039 41,305
04 JIZtN2Z2XNSE+ 84,344 43,039 41,305
OJIxt0tE 1884 =28 & 22l JI2Hu2
A 2= 59,243
== 79,2002 x2*22& * 122 41,818
-5+ 79,2003 x2H »52%= 8,237
—gL2F=E
79,2002 x2EH *302! *150f% 7,128
—22X2 € RaEsiied
79,2003 x2& 159
—dxReFt=rE
79,2003 x2& * 12 1,901
OJIZHHZ2Z2 X 40 282 5,301
—lE2E= 59,243,000 0. %% 534
—=0A=RE= 59,243,000 4. 5% 2,666
—JdIE2E= 59,243 ,000& *3.545% 2,101
OJIxt0tE 0lMIE 23
79,2002 x5 1025 19,800
201 et 3| 61,265 92,705 A31,440
01 At22t2l] 60,000 60,000 0
OJIxtotE 82 =% A
50,000& #5012 +202] 5,000
OJIxt0tE 82 cIE2H A
1002 +1,00001*502 5,000
ONS 28 =5 7& 500,000 %102 5,000
O&0ZE oeol s0l1ss -+
300,0002 %105 3,000
OJIxtotE V1E83E =3 M
20,000,000& *13] 20,000
OJIRtotE V1E83d 4223 728
200,000 %102 2,000
OJIxt0rE Mg =218 29
10,000,000 *2JH 2 20,000
2 352484l 1,265 1,265 0
OJIXt0tE 82 R¥R=
2,530 *5000H 1,265
202 04dl 4,400 2,400 2,000
01 2L AL 4,400 2,400 2,000
OJIXI0tE 2EEF =4 04l
4,400,000 4,400
JIXtots 2I22l(OIXM0ISAIEEEEH) 1,429,815 2,080,435 650,620
JIXHOS HEA 22 147,236 1,122,628 A975,392




M 22
. SUBIIXN0E 2EIHEAS
Sl JIXI0E SYBRlOIX0ISAILSE3H) (o) @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 @124H| 102,236 88,228 14,008
M ORINZZE2NSES 102,236 88,228 14,008
OJIXi0tS LEMEL 29 JIZN2 2
QIAHI(FEH) 41,012
—Jl2= 79,2002 x1H+22 x 122 20,909
—&0=2 1,742,400 x100%+ 1 H *42] 6,970
—E5+y 79,2005 1245507 4,119
—HEEIH| 1,742, 40024 600+ 12523 2,091
—NeLg 100,000 +184 122 1,200
—oizozsg
9,900 12 #2A| 24302 * 150% 891
—FYUR2sy
79,2001+ 124 %302 * 150% 3,564
—22X9 2 R4
79,2002 %14 80
—ARsRtE
79,2002 x 18 x 15 1,188
OJIZtM2 2 40 28 = 1,824
—1NEZE= 41,011,000& 0. %% 370
—AIEEE 41,011,000& *3.545% 1,454
O8%I| HE L AEA U8 o5
79,2002 x25F x30 59,400
201 el 45,000 1,034,400 989,400
01 At2telt] 18,600 1,010,400 /991,800
OJIxtots d&d X 2
2403 50,0005 12,000
OJIxtitE g 8d =5 S 7L
30&+100,000% 3,000
OJIXtOrE Of - Z2EA 29 HIS 28
100,0003 204 2+63] 1,200
OJIXt0tE HEAIAE MY SXtE
200,000 122 2,400
02 S3=gl 26,400 24,000 2,400
OJIXttE €S 2208 RAE+
2,200,000 128 26,400
JIXOIE AN 2E 947,772 745,948 201,824
101 e124d| 265,715 178,591 87,124
M ORNZZ2NSE S 265,715 178,591 87,124
Oortgdl JIZtRI2Z2 X 24 208,135
—Jlzs 79,2002 6 * 162 12 91,239
—a0= 1,742,400 +6 2 *100%*42] 41,818
—F5=4 79,2002 x6E »52== 24,711
—SEFOHI 1,742, 4002 6B x60%*22] 12,546
—X2xd 100,000 x 12 ~6H 7,200




A 22
. SUBIIXN0E 2EIHEAS
Sl JIX0IE SRR (OIXOFS AL SHEIH) (o) &)
. = SIE]
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
—oRI224Y
9,990+ *4A| 2H+ 162 x 12E *50% 23,017
—22X2 € REsitrE
79,2002 x6H <1 476
—oRRSENLY
79,2002 +x6E 152 7,128
OJIZHHZ22X 40 282 17,580
—1E28s 196,523,000 %0. %% 1,769
—=HA=SREs 196,523,0002 *4. 5% 8,844
—JdHEE= 196,523,000 +3.545% 6,967
OJINZ22X &&=
4,000,000& 104 40,000
201 Zet=Eh] 611,057 540,357 70,700
01 AtR2t2|HI 154,177 178,717 N\24,540
OJIXIOIE A2 g &E 2F3EI =
== 1,000, 0002 x22]* 10 2 20,000
OJIA0IE W SHEL HAFES
12,000,000 * 14 12,000
OJIXOIE 22l9IE SRML HZAL 5=
2 5,000,000& 42| 20,000
OJIxtotE 2g8=5 7Y
500,000& %122 6,000
OJIx0IE 28 ARES 7
150,000& x 102 1,500
OJIxt0IE 28 SAEN 74
26,0002 x802 A 2,080
ORR+Rmd 224 HIS 78
80,0003 #3012 x 128 2,880
OJIxt0lE 29 4=+ 7Y
6,6002 x185+5I1 A+ 123 7,128
OJIxt0tEe 2& Zeld |Al2chl 3,025
—T2E =8 2 EY 205,000 52 1,475
—Zdd3a Y 310,000& %53 1,550
OJIX0IE AIE2E Ze=AD Al BE
242,000+ 122 2,904
ORQIBHIAIAY OlEE
1,500,000& * 12& 18,000
OJIxt0t= CTV |RAI2+ EH8|
500,000+ 12 6,000
OJIxtotE SIIEE)| dEHIE
60,0002 *1CH* 122 720
OJIXIDIS2Y - AIEE SOl 28 S2
=4l 8,000& 102 *110& 8,800
OJIX0E 2EARASAE =2 ALDHHA
HYEY = Ns 100,000 %14 100
OJIXOIE 2ERASAHE 2| FX2t
Bl 220,000& * 122 2,640




M 22
. SUBIIXN0E 2EIHEAS
Sol: JIX0IS 2Pl (IXOFS AR S5l H) (12l M2
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
OJIXIOIE @IIHEY 242
450,000 671 A+ 123 32,400
OJIxt0ts 285 Y
500,000 x8H *23] 8,000
02 s3=gHl 444,000 361,640 82,360
OJIxlE 28 532= 444,000
M3 26,000,000& ~12& 312,000
—&fol= 23 9,000,000& 123 108,000
—Stes=s 2,000,000 ~12& 24,000
03 A= 12,880 0 12,880
O=M 012t 2328 7Y
2,000,000 #22] 4,000
O=Hl JI2t JIXtots e 222 N (8=
2 S) 2,000,000 %14 2,000
O"gAr=d SAHI 8,000& x43& 20 6,880
401 Al HIZ R 0HbI 54,000 54,000
01 AlZ8| 54,000 54,000
O2JIXt0tE etuizher
54,000,000 *14! 54,000
405 AHaHE = 17,000 17,000
01 AL =S F=HI 17,000 17,000
OJIXt0tE dSAtg 7Y
17,000,000 1CH 17,000
2HIO sE2AFE20 298 44,780 33,980 10,800
201 Zet=3h] 12,920 10,920 2,000
01 AtR2te|HI 12,920 10,920 2,000
ORI U= 160,000 «12& 1,920
O 22l PEE U FHH|
5,000,000 14 5,000
Og HEgd &€ fI8= 500,000& * 122 6,000
206 M=l 31,860 23,060 8,800
01 M=4l 31,860 23,060 8,800
oZ Atz 7 400,000 12& 4,800
osg 7 300,000& * 128 3,600
OHl = 55,000& * 122 660
OS25E A2 T
1,200,000& * 122 14,400
OSEsg 22l 2= 78
700,000 * 122 8,400
JIXOES HAINE 29 290,027 177,879 112,148
101 e124d| 103,867 66,739 37,128
M ORNZZ2NSE S 103,867 66,739 37,128
OTAANE 2 & 2| JIZMZZ2X 2+ 73,529
—JlZ2= 79,2003 x2H+222U x 12 41,818




M 22
. SUBIIXN0E 2EIHEAS
Sl JIX0IE SRR (OIXOFS AL SHEIH) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—&0=3 1,742,400 18 %33 3%+ 123 6,963
-5+ 79,2003 x2& +52== 8,237
—ZE3JH 1,742, 4006002 »23] 4,182
—XExE 100,000& x 12 =123 1,200
—oimRRsy
9,900 x2Z %2 A| 2H+302 *150% 1,782
—sgaR4y
79,2003 *2EH *30& *150% 7,128
—22X2 € REsitrE
79,2002 x2& 159
—dx=maEsteg
79,2002 x2&* 13 2,060
OJIZMZ2 2 4L 28 = 6,578
—lE2E= 73,529,000 0. %% 662
—=0A=SRE= 73,529,000 *4.. 5% 3,309
—AdIE2E= 73,529,000 +3.545% 2,607
OTAIANE d0] 2& 2RY
79,2002 x 152 +23| 10! 23,760
201 fer=3y| 182,560 107,540 75,020
01 AtR2tc|HI 104,820 61,400 43,420
OTAIAE A 221SE 728
550,000& * 122 6,600
OAYAL QHREY 248
550,000& 62 3,300
OFIDIT A= AEBH =8
1,000, 0002 x27 %13 2,000
O&AINE 4A2F 7Y
200,000& *102] 2,000
OMUEE SH L HE)
200,000 x50 +23] 2,000
OzYIl BERNDE 248
440,000 12& 5,280
O3=J| gl 2= 60,000 *1CH* 122 720
OLME| ZHOE 2TEL 242
700,000& *22] 1,400
OS2=% 29 B28E 72
100,000& * 12 1,200
OTAIANE CCTV RX2+ SH8I
130,000 x7JH 2% 123 10,920
OADIEIE RAE= S9H|
3,200,000 x2JH 2 6,400
OZRbIeIAE B2+ SSH|
5,000,000& *14] 5,000
o8 ezt o Xt
11,000,000& * 2% 22,000
OReITHED| 225 |
3,000,000& x12& 36,000




M 22
. SUBIIXN0E 2EIHEAS
Cielr JIX0IS 2ABRAOIN0ISAYLSEIH) (cre): xg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 77,740 46,140 31,600
OHAIANE AIEEHl FX2
3,000,000& *128] 36,000
OR4Z ASHA 2|
770,000 22 1,540
OAgetdE sl A3t 50,0002 42 200
O&dAIZ 4 E9H| 20,000,000& * 14| 20,000
OWR  0ICIN OlE |XI2= |
20,000,000 * 14 20,000
206 M=l 3,600 3,600
01 M=4l 3,600 3,600
OAIE S2 ¥ 20 7Y
300,000 * 122 3,600
JIxtotE d2xd 2,729,331 2,136,431 592,900
JIXtOrE 22l (DIXI0IS ALY SE3EH) 2,686,539 2,136,431 550,108
JIXtOtE Al RAXI 2tel 834,391 612,138 222,253
101 @1A4H| 70,811 69,058 1,753
04 JIZtNZ22 XS 2+ 70,811 69,058 1,753
OAld =Xl JIZHMZ2Z2X 212 41,005
—JlEs 79,2002 x 1 *222 x 122 20,909
—d0=2 1,742,400 x 18 +33. 3~ 122] 6,963
—F549 79,2004 124522 4,119
—YEEIHI 1,742, 40021 460124423 2,001
—Xoag 10,0002 *124 128 1,200
—ompRsy
9,900 * 1&*2A| 2%302 x150% 891
—sgae4y
79,2003 * 12 *30& *150% 3,564
—22X2 € RE8itrE
79,2002 %1212 80
—RRIENLY
79,2002 x 18 * 152 1,188
OJIZMZ2 2 X AHEE= 3,670
—1EEBEE 41,005,000& 0. %% 370
—=UHSREsS 41,005,000 4. 5% 1,846
—AdIE2E= 41,005,000%3.545% 1,454
OEXl W AIEEH LAIAISE Q12
79,2003 «3H 222 5 26,136
201 er=23y| 12,780 78,680 65,900
01 AtR2t2|HI 1,280 55,180 /53,900
OS%Es S +EEAM =28
80,0002 x22|+8& 1,280
2 S52g4l 11,500 23,500 212,000
OJIX0rE HIIXtg =X 11,500
— Xt ddl || 500,000 504 2,500




M 22
M JIXM0E d2xE
chel: JIXI0NS ZRERl(OIXI0IS A S5 H) (Crel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—HHE | WA 3,000,000 «3CH 9,000
206 M=l 65,000 62,400 2,600
01 MZH| 65,000 62,400 2,600
OE+8Hl8 A=
1,000,0002 10& 10,000
OHXl W SEAE TS P8t Q2AH R
- 3,000,000& *52 15,000
OREZE N4 RXl 25 23 7Y
5,000,000& 42| 20,000
OOIHIE ANd= 25 7Y
5,000,000& 42| 20,000
401 AIEHIZ SR OHYI 685,800 402,000 283,800
01 Al&HI 685,800 402,000 283,800
L= 22 B3| 10,000,000 *43] 40,000
OdE ML 24=FHI 5,000,000 82l 40,000
OJIxt0te 2+38Hl 10,000,000 %102 100,000
OBIDI2X 22 tMAIE 21X
22,000,000 *1IH 2 22,000
O BOIAE ZH|
300,000,000& *14] 300,000
O#I (SN E+=FH
100,000,000 *14] 100,000
OsdEs FAl&e 10,000, 000& x22] 20,000
OZHl &xtz 660,000& *302] 19,800
O=NE Fit2eISA(Z0I=N, AFo
0l =) 22,000,00084 23] 44,000
JIXt0E & 2el 394,039 211,244 182,795
101 @124H| 301,039 189,243 141,796
MU IIRINZZENSES 301,039 159,243 141,796
OJIXt0tE at&a & M| Ha J[2Hh2
ek 2 216,539
—JlEs 79, 200x6F x22L « 12 125,453
-5+ 79,2002 x6H #6525 24,711
—d0=3 1,742,400 *3Z *100%*42] 20,909
—2Z2Ae € fFesited
79,2002 x6H <1 476
—SEFOHI 1,742, 4002 *3E x60%*22] 6.273
—RL=2PE
79,2002 x6 2«30 * 150% 21,384
—AF2d 100,000 x3&* 12 3,600
—HEZZ2SH(ZLE)
9,6503 +62& *2. 530 A1 2++302 +150% 6,605
—dx=maEsteg
79,200 6 152 7,128
OJIZHMZ2 2 4HEE= 13,220
—1EBEE 247,315,0002 0. 9% 2,226




25 22
Y IR0l ZREA
ol JIXI0NS ZBRRIOIXDIS AL SESIH) (69 =)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
23RS 247,315,00021%0. %% 2,206
—yeEE 247,315, 000243, 545% 8,768
O&%)| BRBl Y 01 71,280
—H0] BA(HL) 22l
79,2002 *30Y 30 71,280
201 LEr2AH| 77,000 41,901 35,099
01 AFR2t2lHl 42,000 26,901 15,099
OJIX0I2 stEA 22| 28 72
2,500,000& 122 30,000
OIIX0tE stE2g9 22 2378
1,000,002+ 122 12,000
2 ZZ2YH| 35,000 15,000 20,000
OsIEM A& ST 24
5,000,000 %73 35,000
405 KM SHI 16,000 10,100 5,900
01 AL Z2EFSH| 16,000 10,100 5,900
Ostdae| 22 &yl ¢ 16,000
—0lH&A 1,000, 000& *3H 3,000
—sS3HE 1,000,000 *8IH 8,000
—MYIIE 500,000 %1074 5,000
JIXI0IS &012& 22 683,018 582,129 100,889
101 2124d| 546,018 455,129 90,889
04 JI2tNI22XsSES 546,018 455,129 90,889
OXO0|I2H 22| J|I2HN22 X B 344,971
—J23 79,200 ¥*9H 222U x 128 188, 180
—F=5Y 79,2003 x9Z #5253 37,066
—&02 1,742 4003 *9H *33. %+ 123 62,664
—22Xe ¥ KRIsIiY
79,2003 x*9AH x 1! 713
—"HESFIH| 1,742, 400& *9H +60%*23] 18,818
—5422G
79,200 *9H 10 *150% 10,692
—& R 100,000 9 » 128 10,800
—HEZZ2xSH(ZE)
9,900 xQH x2 A| 2H+20 2 % 15(0% 5,346
—HXRSEIIY
79,2003 x9Z x 15 10,692
OJ12HHI22 At 4UHEE 2 30,859
—1EYEE 344,971,000 *0. P% 3,105
—=201AZ L= 344,971,000 *4. 5% 15,524
—AL8E = 344,971,000 *3.545% 12,230
OH=&Y & 22 oI
79,2003 *8H +53| * 10 31,680
O&OI )| =82l €2 212
79,2003 *8H *53|* 10! 31,680




M 22
Zu: JII0E BRES
Etel: JIX0IS Z222l(OIXI0IS AL SE3IH) (CHe ® <)
M- B SRAEA) - HRAR - B2 of v G o HIDE2
OOl HHELH g o=
157,1002 x5 »363] 28,278
OJIxiolE ®C 03 28 o2y
157, 1002« 72 +53| 10 54,985
OJIXtOS &= UF &8 AFY
167,1002 x5 +53|+x6& 23,565
201 er23 | 25,200 25,200
01 At2teltl 11,200 11,200
OT0ISE 2LES P (HEINMA, &, &
o s) 1,200,000 *62] 7,200
Om0IZE B2l M7 72 (HERT S
) 400,000 %105 4,000
2 S52g4l 14,000 14,000 0
OHOISE AIEEHl FA 2==H| 14,000
—ZY A&E 2K 24
3,000,000 *43 12,000
—2tel il !X B+
100,000 #4LH+53] 2,000
206 M=l 81,800 81,800
01 MHZHI 81,800 81,800
ON7 ZOISE ATHE F0| 7Y
20,0002 *1,500%= 30,000
OHllatet E€3E Hia ¥
12021+80,000 £ 9,600
OHHELH s 7Y
1,000, 0002 x223] 22,000
OZ0l d=s2el I 7Y 20,200
—XZ & Hg(18) 20,0002 300 6,000
—=JI12 Hlg 11,0002 +800% 8,800
—2s MH(AH) 60,0003 0= 5,400
405 KHaHE SH] 30,000 30,000
01 Tt =S F=HI 30,000 30,000
OJIx0lE &8 &CAJI| 7
30,000,000 »1CH 30,000
JIXtOE =& 2el 558,724 536,250 22,474
101 @124H| 413,794 401,320 12,474
MU IIRINZZENSES 413,794 401,320 12,474
OJIXtotE ottt & SRE 22 JIZH2=2
UNREIE = 246,020
—Jl2=s 79,2003 6 x222 « 128 125,453
—F=5=g 79,2002 x6H #525= 24,711
—d0=3 1,742,400 3«6 +33. 3~ 122] 41,776
—22AX2 € REsitrE
79,2003 x6E 1 476
—ZE3JHI 1,742, 4002 63 «60%*22] 12,546




M 22
Y IR0l ZREA
SRl JIXI0RE FRBRIOIN0ISMSSESIH) CERED
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—2g2e4y
79,2003 *6 2 *302! *150f% 21,384
—Neay 10,0002 %63 1224 7,200
—oINRRAY(XIER)
9,900 6 *2A| 2*302 x150% 5,346
—IRRBENY
79,2002 +6E » 15 7,128
OJIZMZ2Z2 X 4AHEE= 22,008
—lE2E= 246,020,000 0. %% 2,215
—=0A=SRE= 246,020,000 *4.. 5% 11,071
—AdIE2E= 246,020,000 +3.545% 8,722
OJIAt0IE 82| 2822 Y 145,766
—N=2c 79,2003 x25EH *30 59,400
—2 2 A 79,2003 x15F ~40 47,520
—JIXt0t= W Ol &
161,858 6 +53|+8& 38,846
201 er2&| 27,170 27,170
01 At2teltl 12,280 12,280
OJIAIOIE =8 2| &l Stz 3,960
—=421(0.6W) 660,000 <62 3,960
OJIXtotES 2228 2248 g 7Y 8,320
—HABR(S0l, %, 4 8)
800,000& 62 4,800
—S2% U5 ¥= M HE
88,0002 402 3,520
02 S3=gHl 14,890 14,890 0
OJIxt0tE W A= |2l
1,000,000 *22] 2,000
OJIXI0tE W 2t==Al4 EH| & S A2l
100, 0002 *20m 2,000
OJIxtore 2322l EHl SFOI(HFI1, T
SHESIIA S) 2,250,000& 2,250
OJIXt0tE 22l XtE 24| 6,640
— Xtk ddl ||
200,000& x2LH*42] 1,600
— X RS 5,040,000& 5,040
O=EF I U5 & A&7 A2l
1,000,000& *23] 2,000
206 M=l 95,760 95,760
01 MHZHI 95,760 95,760
OJIx0IE Z=gd4aE ds2e Il 2L 18,200
—Hl= 11,0003 2005 2,200
—ElHl 10,0002 *500 £ *23 10,000
—=<% 600,000 %102 6,000
OJIxtOtE =& Alg 7Y 8,800




M 22
Y IR0l ZREA
SRl JIXI0RE FRBRIOIN0ISMSSESIH) CERED
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—0Ed =2=x 2,000&+2,000= 4,000
—FJA(A=R) == 1,2002 #4,000== 4,800
O=sRE 288 Tt 28 30,360
—Z |8 48 7, 7002 +600 £ +62 27,720
-2 SEE Hl= 88,0002 * 10X *32] 2,640
O SEE S & 3R 7¢
1602 +60,000=*43] 38,400
401 Al HIZ S OHbI 20,000 10,000 10,000
01 AlZ2H| 20,000 10,000 10,000
OJIxt0te EEE ot*A JHl SA
20,000,000& * 14! 20,000
405 AHAHE S 2,000 2,000
01 AL =S F=H 2,000 2,000
OJIXt0tE B2 &Y IHl 7
1,000,000 #25 2,000
JIX0tE == 2cl 216,367 194,670 21,697
101 @124H| 142,827 119,715 23,112
04 JIZtN22 XS 2+ 142,827 119,715 23,112
OJIXOIE == 22l JI2ANIZ2A 2 77,969
—Jl2=s 79,2003 x2H 222« 12E 41,818
—F=5+g 79,2008 x2H #525= 8,237
—d0=3 1,742,400 x22 %33, 3%+ 123 13,926
—22X2 € REstrE
79,200 x2H 1 159
—ZE3JHI 1,742, 4003 x2 B «60%*22] 4,182
—FL2PE
79,2003 x2E x 152 *150% 3,564
—AF2d 100,000 =2 * 12 2,400
—HEZZ2SH(ZLE)
9,900 x2& *2A| 2+302 x150% 1,782
—dx=maEsteg
79,2008 x2& x 12 1,901
OJIZtMZ2 2 4HEE= 3,447
—J1EEBEE 77,543,000& 0. 9% 698
—JdLEE= 77,543,000 +3.545% 2,749
OJIxtOtE == el 2EeIFY 61,411
—=5 22| & SR 27
79,2003 x22H+63| 18 17,108
—== 22 & dFEHY
157, 1002 78 x32/« 10 32,991
—=HOI2E Z0l HHE 24
157,1002 =28 » 12 3.7
—=SgSdl LHHLS
157,100 x3Z x4 2 %43 7,541
201 eer23y| 36,740 32,780 3,960




M 22
M JIXM0E d2xE
chel: JIXI0NS ZRERl(OIXI0IS A S5 H) (Crel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 29,740 25,780 3,960
OJIXt0tE == 22| dHl gtz 9,240
—=4D|, el S 660,000 * 142 9,240
OJIXOlE == & H0ISEE 2248 M
9l 20,500
~XYUBA(ZHE $+27 )
500,000& 42 2,000
—A24 MHM(E2, 8427, 32 S)
1,500,000 43 6,000
—TO0| AIE A TR (%A, 2B
S)) 2,500 *5,000HK 12,500
® Z=2H| 7,000 7,000 0
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